MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T(786)315-2590 T (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) ww.miamidade,gov/economy

TKO Doors, Div, of 4Front Engineered Solutions, Inc.
N56 W24701 N, Corporate Circle
Sussex, WI 53089

Scopr:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to
be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section
(In Miami Dade County) and/or the AHJ {in areas other than Miami Dade County) reserve the right to have this
product or material tested for quality assurance purposes. If this product or material fails to perform in the accepted
mannet, the manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or
suspend the use of such product or material within their jurisdiction. RER reserves the right to revoke this acceptance,
if it is determined by Miami-Dade County Product Control Section that this product or material fails to meet the
requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Model VC-4 WL Plastic Sectional Garage Door up to 10°-0” Wide x 12°-0”
High

APPROVAL DOCUMENT: Drawing No. 13-TKO-0402, titled “Fiberglass Dock Doors VC-4 WL
Overhead Garage Door”, sheet 1 through 7 of 7, dated 05/06/2013, with last revision dated 11/20/2013,
prepared by Engineering Express, signed and sealed by Frank L.. Bennardo, P.E,, bearing the Miami-Dade
County Product Control approval stamp with the Notice of Acceptance number and approval date by the
Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation
instruction drawing reference number, approval number (NOA), the applicable test standards, and the
statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s side
track, bottom angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product. ‘
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product,
for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any
section of this NOA shali be cause for termination and removal of NOA. :
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be
done in its entirety. '

INSPECTION: A copy of this entire NOA sha!l be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.

S MIAMIDADE COUNTY B
i) APPROVED | g

NOA No 13-0521.06

Expiration Date: November 28, 2018
Approval Date: November 28, 2013
Page 1




TKO Doors, Div, of 4Front Engineered Solutions, Inec,

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 13-TK0-0402, titled “Fiberglass Dock Doors VC-4 WL Overhead Garage
Door”, sheet 1 through 7 of 7, dated 05/06/2013, with last revision dated 11/20/2013 prepared
by Engineering Express, signed and sealed by Frank L. Bennardo, P.E.

TESTS

1. Addendum letter to Test Report No C3614.01-602-18, dated 09/09/2013, signed and
sealed by Shawn G. Collins, P.E.

2. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

2) Large Missile Impact Test per FBC, TAS 201-94

3) Cyclic Wind Pressure Loading per FBC, TAS 203-94

4) Forced Entry Test, per FBC TAS 202-94
Along with marked-up drawings and installation diagram of Verticool Doors, prepared by
"Architectural Testing, Inc., Test Report No. C3614.01-602-18, dated 03/28/2013, signed and
sealed by Shawn G. Collins, P.E.

3. Test report on Self-ignition Temperature per ASTM D1929, Smoke Density Rating per ASTM
D2843 and Rate of Burn per ASTM D635 of various plastic door components, prepared by
Architectural Testing, Inc., Test Report No. C2850.01-106-18, dated 11/21/2012, signed and
sealed by Gary T. Hartman, P.E.

CALCULATIONS

1. Jamb anchor calculations prepared by Engineering Express, dated 05/14/2013, signed and
sealed by Frank L. Bennardo, P.E.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

MATERIAL CERTIFICATIONS
1. Test report on Flame Spread Index and Sinoke Developed Index per UL-723 of EXPS
foam insulation, Test Report No. BRYX.R3573 dated 07/12/2010.

STATEMENTS

1. Statement letter of code conformance with 2010 FBC, issued by Engineering Express, dated
05/06/2013, signed and sealed by Frank L. Bennardo, P.E.

2, Statement letter of no financial interest issued by Engineering Express, dated 05/06/2013,

signed and sealed by Frank L. Bennardo, P.E.

Tz /2013

Carlos M. Utrera, P.E,

Product Control Examiner

NOA No 13-0521.06

Expiration Date: November 28, 2018 -
Approval Date: November 28, 2013



apufiivery:.

101 Project FilesiTKO Dock Doors (TKOM2013V13-TKC-04 Verticoo! 4in Sectional Door (NOAN 3-TKO-04_02b Verticool 4in Sectional Door (NOA).dwg

keithl

11/20/2013 - 2:43pm

“o

by

e

VC-4 WL DOCK DOORS | ﬁgﬁ%

LARGE MISSILE IMPACT RESISTANT Fo11/E 131
117.750" PANEL WIDTH 7 : H
A'L\ NOTE: PANELS MANUFACTURED 2.250" 150 o &
LESS THAN DOOR OPENING WIDTH ' : N one o BIF
R J GENERAL NOTES S12838 &
B JE\‘ == — égg 1. THE SYSTEM DESCRIBED HEREIN HAS BEEN "‘g}:‘ Sl s N
\/ DESIGNED AND TESTED IN ACCORDANCE WITH THE 2 M Eﬂ} ,-‘8\ i3
2010 FLORIDA BUILDING CODE, FOR USE WITHIN AND @Hp}g‘ ‘38
OUTSIDE THE HIGH VELOCITY HURRICANE ZONE, PER ZRIGE 5 &2 h
TAS 201 / 202 / 203 STANDARDS. S|>02mzd
PLAN VIEW 2. NO 33-1/3% INCREASE IN ALLOWABLE STRESS OA<8.83g
HAS BEEN USED IN THE DESIGN OF THIS SYSTEM. Z )( Eg gup g
WIND LOAD DURATION FACTOR Cd=1.6 HAS BEEN USED g
DETAIL B A FOR WOOD ANCHOR DESIGN. Wl -5 3 % °g
- 3. POSITIVE AND NEGATIVE DESIGN PRESSURES % E §£3 4
CALCULATED FOR USE WITH THIS SYSTEM SHALL BE SLe ¥
5 - DETERMINED PER SEPARATE ENGINEERING IN folll = g
i ;ﬂ 1. ACCORDANCE WITH THE GOVERNING CODE, PRESSURE "‘ »
i (=i REQUIREMENTS AS DETERMINED IN ACCORDANCE WITH i
ASCE 7 AND CHAPTER 1620 OF THE FLORIDA BUILDING -
= L. CODE SHALL BE LESS THAN OR EQUAL TO THE POSITIVE s
OR NEGATIVE DESIGN PRESSURE CAPACITY VALUES it
= 3 LISTED HEREIN FOR ANY ASSEMBLY AS SHOWN. Y«
= = 4, DESIGN PRESSURES NOTED HEREIN ARE BASED =] g =]
H [ ON MAXIMUM TESTED PRESSURES DIVIDED BY A 1.5 EE 9
= e SAFETY FACTOR. a® 2 Y
N % k] [ 5. THE SYSTEM DETAILED HEREIN IS GENERIC AND w oy Nl 82
48.000 MAX Ik ==y DOES NOT PROVIDE INFORMATION FOR A SPECIFIC 82 gluwok
PANEL HEIGHT N nr SITE. FOR SITE CONDITIONS DIFFERENT FROM THE & g o 2oy
| ] CONDITIONS DETAILED HEREIN, A LICENSED ENGINEER = w & 822
N OR REGISTERED ARCHITECT SHALL PREPARE SITE g 5@ E %Eu
i B SPECIFIC DOCUMENTS FOR USE IN CONJUNCTION WITH o5 |820
. % SEE SHEETS 6 OF 7 THIS DOCUMENT. Eg=,]|0 < Q
] N S AND 7 OF 7 FOR DETAIL 6. CONTRACTOR SHALL VERIFY THE ADEQUACY OF Q0 hj" Blutk
1’ PANEL HARDWARE THE EXISTING STRUCTURE TO WITHSTAND EOnolsES
= 111 , SUPERIMPOSED LOADS. WOOD BUCKS {BY OTHERS) n E a¥lo % w
SHALL BE ANCHORED PROPERLY TO TRANSFER LOADS ©C Enpw|lxa
| ol TO THE EXISTING STRUCTURE. g g8lg=saq
SEE SHEET 4 OF 7FOR DETAIL 7. ALL BOLTS & WASHERS SHALL BE ZINC COATED mna % %
= - LOWER TRACK ASSEMBLY STEEL, GALVANIZED STEEL, OR STAINLESS STEEL WITH § g Ll €S
A MINIMUM TENSILE YIELD STRENGTH OF 60 KSI U.O.N. g g2 =
s ; 8. ALL DISSIMILAR MATERIALS IN CONTACT SHALL w0
48.000 MAX EW E BE PAINTED, PLATED OR OTHERWISE INSULATED AS g E
PANEL HEIGHT & PRESCRIBED IN THE ABOVE-NOTED BUILDING CODE. 2
144.000 VARIES - : : : 9, DOOR HEIGHT MAY VARY UP TO A MAXIMUM o
DOOR HEIGHT WITH i 3 i HEIGHT OF 144", PROVIDED THAT INDIVIDUAL PANEL =
THREE PANELS i @ H | SEE SHEET 2 OF 7 FOR HEIGHTS DO NOT EXCEED 48", MEE
S i PANEL ASSEMBLY 10. ALL HARDWARE & FASTEMERS SHALL BE IN & g g GE
i ils ACCORDANCE WITH THESE DRAWINGS & MAY NOT VARY HE
g i UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. g
| | samlal.|.
| E g
g e =) fe— SEE SHEET 6 OF 7 FOR DETAIL Elalalgl |,
TRACK ANCHOR MOUNTING A LLO WARB LE
‘
i [l SEE SHEET 3 OF 7 FOR DESIGN PRESSURES ég
48.000" MAX Hgara) 8
AT 1} s e F DETAIL PANEL COMPONENTS +52.0 PSF % o
D i -52.0 PSF LEGEND
- L 13-TKO-04
j | | % C . SCALE: 102
| 1 Code PAGE DESCRIPTION:
SECTION A:A A 60000 CENTER POST GENTERED . 7
SECTION SIDE VIEW P ‘
120.000 DOOR WIDTH/TRACK SPACING

INTERIOR ELEVATION

1




{NQA).dwg

-04_02b Vertlcool 4in Sectional Door

EAC1 Project Files\TKO Dock Doors (TKOR201311 3-TKO-04 Verticoo! 4in Sectienal Door (NCANM S-TKO.

kaith!

11/20/2013 - 2:43pm

.”HHNfNH";h“ )

. .\
B ot
.o | 48.000 MAX
°° | PANEL HEIGHT
— 4.125" DIA HOLE FOR ‘
PORTHOLE WINDOW
(WINDOW PANEL ONLY)
#8X3/4" K-LATH SCREW
117.750 MAX PANEL WIDTH PART NO. 10-00127
PANELS 2.250" LESS THAN JAMB OPENING (X4 PER CORNER- TWO ON
INTERIOR AND TWO ON EXTERIOR
#8X3/4" K-LATH SCREW SIDE OF T-SLOT RETAINER)
PART NO. 10-00127
(TOP OF TOP PANEL AND 3.900" PANEL THICKNESS

BOTTOM OF BOTTOM PANEL ONLY)
QTY VARIES WITH PANEL WIDTH

4" HORIZONTAL SEAL
PART NO.20-00436

MATERIAL: 3,78 XEPS FOAM-
COMPRESSIVE STRENGTH OF 25PSI MIN
(STYROFOAM BY THE DOW CHEMICAL CO.)
PER UL TEST REPORT BRYX.R3573

EXTERIOR/ INTERIOR MATERIAL:

030" ALUMINUM TYPE 3003-h134 EMBOSSED
FINISH: PAINTED WHITE WITH KRYSTAL KOTE
(GLUED TO XEPS FOAM CORE WITH MOR-AD M-642) '

PANEL SPACER, TW
(4 PER GORNER)
PART NO. 20-00513

BOLT,CRG 4 ¢
11420 X, 5-1/2"
{4 PER CORNER)

@
PART NO. 10-00200 j?\
FL
2 UT, FLNG, 1/4-20
(4 PER CORNER)
PART NO. 10-00005

g

BOTTOM LOOP SEAL
PART NO. 20-00318

PANEL ASSENMBLY ~1.500 1.500-]

2.000

N

1

D-PROFILE, TRIM-LOK
PART NO. 20-01679
(PANEL WIDTH + 3.000" PER SIDE)

CUT TO LENGTH FROM
TKO PART NO. 20-00028

’ SEAL, 4" T-SLOT
PART NO. 20-00440

CORNER BRACKET, WW
PART NO. 20-00045

#8X3/4" K-LATH SCREW
(X2 PER BRACKET)
PART NO. 10-00127

NUT, INNER, ALU
PART NO. 20-01031

PART NO. 20-00440

= < M D-PROFILE, TRIM-LOK
| PART NO. 20-01679
\ ) BACKER ROD, 6"
- A{%  (ONE PER SIDE SEAL)
TOP OF TOP PANEL ONLY
i
™S, PART NO. 20-00973 & %
- © &
2’ | &
¢
¢
| )
1 SEAL, SIDE LOOP, BLACK B
‘ (X2 PER SIDE) PART NO. 20-00776

(1 PER CORNER} /

WINDOW, POLYCARB (LEXAN)- FOGGED
SEAL, 4" T-SLOT PART NO. 20-01033

Y
N\
I ®
2.250
‘ & ®
DETAIL A
CORNER DETAIL
\L

DETAIL B
ISOMETRIC VIEW
D-PROFILE LOCATION

GASKET, RUBBER g
PART NO. 20-01035 8
TUBE, ALUMINUM e
PART NO. 20-02095 =
oy oy | oy
GASKET, RUBBER g gl
3
PART NO. 20-01035 82|
)
Blel2le]. .
E 2i2€]. .
B
£l
NUT, INNER, ALUM = g
PART NO. 20-01031 g
Al
PORTHOLE ASSY, TW Sl@|E |,
PART NO. 30-00871 e
o 13-TKO-04
:m“”?mﬁ?“ wihte [Tore: j02
e ﬁ‘}ﬂ% g_%‘d‘ PAGE DESCRIPTION:
NOAR (505204

NEEE T

L

L TP YT

3

2 6‘((}
4N

k106
44
o
%,

-
-

160 SW 12th AVENGE
DEERFIELD BEACH, EL

PH: (954) 354-0660 Fax: {9
GERT OF AUTH #9885

A FRANK L. BENNARDO, P.E., INC. INN

WWW_.ENGEXP.C

, DIVISION OF 4FRONT ENGINEERED SOLUTIONS, INC.
N56 W24701 NORTH CORPORATE CIRCLE, SUITE A
SUSSEX, WI 53089
PHONE: 1-800-575-3366 FAX: (262) 246-1301
FIBERGLASS DOCK DOORS
VC-4 WL OVERHEAD GARAGE DOOR
MIAMI-DADE NOTICE OF ACCEPTANCE

2




\204 3\ 2-TKQ-04 Verticool 41n Sectional Door (NOAM B-TKO-04_02b Verticool 4in Sectional Door (NOA).dwg

FAO1 Project Files\TKO Dack Doors (TKO)

keith!

1172002013 - 2:43pm

A LS

0.438

1.375

1.375——!

BRACKET, GORNER L, WW

PART NO. 20-00045

14-GA HRPO**, CLEAR ZINC FINISH

** HOT-ROLLED STEEL, PICKLED & OILED

EFDM FOAM RUBBER-
OZONE RESISTANT

PANEL COMPONENTS

BASED ON PANEL LENGTH —A—

(MANUFACTURED BY
ACTION INDUSTRIES/
TORSICN SOURCE
ACE EXTRUSION)

BT '3M' ACRYLIC TAPE SYSTEM —/

D-PROFILE, TRIM-L.OK PART NO. 20-01679
(SEE SHEET 2 OF 7 FOR LOCATION)

8.000

(L

1-1/4" X 6.00" BACKER ROD
PART NO. 20-00973

! /\/ 117.750 | LEX ALCRYN (BLACK)
MAXIMUM PANEL WIDTH
|1
| 1 ] 1
: ? } 0.795
! : 0.070 THK ——f— E
SEAL, 4" HORIZONTAL WHITE PART NO. 20-00436 o4 160 RIGID PVC (WHITE)
(MANUFACTURED BY HI-TECH)
—7.800
Q o o o o /
=3 a o a o
48.000 MAX S

PANEL HEIGHT SEAL 4" T-5L0T

PART NO. 20-00440
CUT TO PANEL
HEIGHT DIMENSION

N\

o Q [+]
[+] o o Q o]
117.750
MAXIMUM PANEL WIDTH
’ %'l% I
1 |
| Q 074 THK
I 117.750 A |

EPDM

(ETHYLENE PROPYLENE DIENE MONOMER}
BOTTOM LOOP SEAL PART NO. 20-00318
CUT TO DOOR OPENING WIDTH

SEAL, 4" T-SLOT WHITE PART NO. 20—60440

(MANUFACTURED BY HI-TECH;}

3.940

v EQUALS TRACK SPACING/ DOOR OPENING WIDTH '

120.000

‘f( ALCRYN (BLACK)
0.930

RIGID PVC (WHITE)

RETICULATED CLOSED-CELL
POLYETHYLENE FOAM, GREY

SEAL, WwW

SIDE LOOP,BLACK*
PART NO. 20-00028
CUT TO PANEL HEIGHT

SLIP-COAT
BLACK
85 DUROMETER

FLEX-COAT
TPRWHITE
55 DUROMETER

*NOTE:

-SEAL, WW, SIDE LOOP, 48-3/4"
PART NO. 20-01825
INTERMEDIATE PANEL

-SEAL, WW, SIDE LOOP, 49-1/2"
PART NO. 20-01826
BOTTOM PANEL ONLY

1

ey

K
L EATT
oL
%%% oS4
?’a"?'-é..yZ‘ Snel 8
%, C ot oy O
?’@ .'_e '1 \‘\b
5, AL T & (0 Ol
" R g 2
"o, ‘mg\i&@ Oy
Bed-E I
Z|EGssid
DI BN
cnB568
ZX Ro8Tg
|-~z g 8E
g 9
ag8* 3
a2 @
L. 4

) FRANK L. NARDO, P.E. \
PO I 7
L]

=N

, DIVISION OF 4FRONT ENGINEERED SOLUTIONS, INC.
SUSSEX, WI 53089
PHONE: 1-800-575-3366 FAX: (262) 246-1301
FIBERGLASS DOCK DOORS
VC-4 WL OVERHEAD GARAGE DOOR
MIAMI-DADE NOTICE OF ACCEPTANCE

N56 W24701 NORTH CORPORATE CIRCLE, SUITE A

o5/06113| TKO DOORS

10/09/13
1142013

DRWN|CHKD | DATE
KL |FLB

REV. PER COMMENTS KL [FLB
[REMOVE STRAYLINES |KL  |[FLE

gé
EHEEIEAE

13-TKO-04
SCALE! 102}
PAGE DESCRIPTION:

7

S




\““i|°“§6,"“‘i1

{NOANB-TKO-04_02b Verticeol 4in Sectional Door (NOA).dwg
—

EAO1 Project Files\TKO Dock Doors (TKON2013113-TKO-04 Verticoo! 4in Sectional Door

keithl

11420/2013 - 2:43pm

0.500
1

[ =~ N I

. _—E||——0,1ss

RUBBER FOAM, VINYL/BUNA-N, CLOSED CELL

LENGTH VARIES —/\/.
WITH DOOR SIZE I
]

CUT TO SIZE FROM PART NO. 20-01862 0.500—~ |— j 0.250 (LENGTHVARIES WITH DOOR SIZE)
(MANUFACTURED BY ZONE ENTERPRISES LLC.) —
. - |
: i 2_750___,| 132.000 A
150.000
— —— 7.700 — 0.880 = o = s ° -
LENGTH VARIES “[{(LENGTH VARIES }—
WITH DOOR SIZ& WITH DOOR SIZE) | P R — e = = e
RADIANT BARRIER, ALUMINUM FOIL )
CUT TO SIZE FROM PART NO. 20-01863 4l TRACK, VC BTM STL (ASTM: 12-GA A653 GS0) (Fy=36 Ksi, MIN)
1.500 PART NO. 20-02033 (LENGTH VARIES WITH DOOR SIZE)
: = -
| P .
11 FOAM, TAPE, VINYL PART NO. 20-02045
i —— TRACK LINER EXT. (MANUFACTURED BY LAMATEK, INC.)
i 20-01823 RH A
i, © | 20-01919LH 96.000
: (LENGTH VARIES
f WITH DOOR SIZE) RIGHT HAND SIDE TRACK
] . A " 5.625 o o o ST o o
-—0.500 K LINER, TW, 98" PART NO. 20-01815
RADIANT BARRIER e "7” TRAC . TW, \O.
TWO-SIDED REFLECTING A TRACK, WW, STRT iﬂ%ﬂ %%h\fsl?w‘gbﬂgﬁ}%ﬁ gj ESMOOTH FINISH
ALUMINUM FOIL WITH ‘ 1H] . EXT BRKT MOD -
‘ +]  REINFORCED BT PART NO. 20-01601
{(POLYESTER NYLON) SCRIM i N
PART NO. 20-01863 @\— 54.750
: . 17 \~TRACKWW, SPLICE ANGLE
. SKO PART NO. 20-00065
i * /: 5.625 S [} o e © [}
‘ ’ B TAPE, FOAM VINYL, 4/2'W X 1M"H
H ~——TRACK LINER, 96" . : .
1 PART NO. 201815 ] PART NO. 20-02045 < [0_500
SCREW, PPH, 1/4-20 K1-1/4" —==y 1 ] TRACK LINER EXT. HDPE* RIGIO POLYETHYLENE s50"'
: ST 1000500 SN s SMOOTH FINISH - LENGTH VARIES WITH DOOR SIZE
; . : | et WASHER, NYLON, 1/4" 1.D., VC-4 (MANUFACTURED BY-QUADRANT EPP USA, ING)
! S| | PARTNO. 10-00332
] . H- 3.000 .—
: S—NUT, FLNG 1/4-20 1""4-000-1
i , PART NO. 10-00005 m
] RUBBER FOAM, VINYL/BUNA-N N 2.440 0.890
i CLOSED CELL, BLACK, TEXTURED i
j. ) . | CUT TO SIZE FROM PART NO. 20-01862 ' N EIENE)
D
N TRACK, WW, STRT EXT BRKT MOD
. TRACK, VC BTM STL S YWY,
L 7 ST SRS GUT T0 4001 FROM PART NO. 2001601 TRACK, Wi, SPLICE ANGLE, SKO
P | WITHDOOR SIZE) : : 12-GA HRPO**, CLEAR ZINC CHROMATE
PART NO. 20-00065
LEFT HAND SIDE TRACK . . * HOT-ROLLED STEEL, PICKLED & OILED
' : . Q 1.000
. T 1495+ () f .
. ﬂ 90° |[2.750 O.D. g‘g"&{g ¥iding Cod
! = :.\:fL NOA# (= 2577
L B < 1| 1.500—}— |———[:2.500 0.D.

LOWER TRACK ASSEMBLY

1500 [4520—] oo g

1030~ |- |

e BRACKET, FLOOR TQ TRACK
N (8-GA HRPO™, YELLOW ZINC)
i| 2 PART NO. 20-00007

TRACK, WW, STRT EXT., 24" (ASTM: 14-GA AB53 G80) (Fy=36 Ksi, MIN)

1202 X BRTEL
30 v g e 1
3 2078 ®© SF
%,'3? Neonea S
" O 5 |93
o Ao o 3B
o S B
T J@E"ﬁsuga
0 Wl Xz
> u_$§.:
Qj<d_ 93
SEHEH
.
T
agf= o
j oli S
pel:  §
3 o

N56 W24701 NORTH CORPORATE CIRCLE, SUITE A
SUSSEX, WI 53089
PHONE: 1-800-575-3366 FAX: {262) 246-1301
FIBERGLASS DOCK DOORS
VC-4 WL OVERHEAD GARAGE DOOR
MIAMI-DADE NOTICE OF ACCEPTANCE

11720113

10108/13)

FLB_|0s/06/13| TKO DOORS, DIVISION OF 4FRONT ENGINEERED SOLUTIONS, INC.

FLB

DRWN|CHKD | DATE |

Kl,

REV. PER COMMENTS KL |FLB
REMOVE STRAYLINES KL

REMARKS
INIT ISSUE

Approved s complying with the
Code

13-TKO-04

SCALE: 102
PAGE DESCRIPTION:

M%W
By EI._' s
:’!{;,m..—a

7

&




“‘niiﬂiﬂn;,’

FA01 Project Files\TKO Dock Doors (TKO)2013113-TKC-04 Verticoe! 4in Sectional Door (NOANM3-TKO-04_02b Verticcol 4in Sectional Door NOA}.awp

kit

11/20/2013 - 2:43pm

o] ERANK L. B B
5 | Seaies, R,
7O BLOCKIGONGRET ANCHOR HOLE TRACK ANCHOR MOUNTING ANCHORING NOTES xeefi= e ™
TO BLOCK/CONCRETE N 1. THIS SYSTEM SHALL BE ANCHORED £3: A
WITH ANY OF THE ANCHORING METHQDSY ! %1 34 -
SHOWN HEREIN, WITH (2) ANCHORS : &2 1 -h Dhpden 1 A
4 // _‘ —1.000 LOCATED 3" AND 12" FROM THE BOTTOR: & b "%}_k Cf‘,&m: %’/E 3
0.500 OF THE TRACK AND 12" 0.C. MAX 3 2z Pl & R E
3.484—> ~ il DETAIL A THEREAFTER OR EVERY OTHER 5 2| ~ QN o c% 3
MIN. EDGE zQ i MOUNTING SLOT. % QiEZe.. ﬂ.;l;‘g E
DISTANCE T i L 2. ANCHORS SHALL BE INSTALLED IN “,[” Bty A
> ~f] H—1.250 ACCORDANCE WITH MANUFACTURERS' D] B
/ ' RECOMMENDATIONS. Wiz Sag”
/ 3. WHERE ANCHORS FASTEN TO CfLogkzy
(SEE ANCHORING NOTES) NARROW FACE OF STUD FRAMING, Q<& 93¢
&3/5" FLAT WASHER ANCHOR SHALL BE LOCATED IN CENTER X|Engu gg
A =
3/8"% POWERS DOUBLE EXPANSION ANCHOR TO HOLLOW s OF NOMINAL 2x (MIN) WOOD STUD (i.e. Wi-z% 28z
L OR GROUT FILLED CONCRETE BLOCK, WITH 1-1/2" MIN. RS 3/4" EDGE DISTANCE IS ACCEPTABLE 1 ZEes 5
EMBED., 4" MIN. EDGE DISTANCE/CENTER OF CELL; OR ~o | FOR ANCHORS TO WOOD FRAMING). wad® o
3/8"@ POWERS WEDGE BOLT ANCHOR, 2" MIN. EDGE . :\ 4. WOOD HOST STRUCTURE SHALL BE MQuws 3
' S Fﬂa DENSITY.
(SEE ANCHORING NOTES) \ o 5. MINIMUM EMBEDMENT SHALL BE J
~ | AS NOTED IN ANCHOR DETAIL. MINIMUM | &
S EMBEDMENT AND EDGE DISTANCE g <
S~ EXCLUDES STUCCO, FOAM, BRICK, AND g B g
@ \\-_ N OTHER WALL FINISHES. 23 & o8
ANGLE TO STEEL i @/Q 6. WHERE EXISTING STRUCTURE IS g S| 6=z
ANGLE TO STEEL WITH STITCH WELD "~ \\ | | WoOD FRAMING, EXISTING CONDITIONS | 8 § & w8 E
WITH PLUG WELD " . | < MAY VARY. FIELD VERIFY THAT A I
~J - \\\ FASTENERS ARE INTO ADEQUATE WOOD Z wg 5 2 % Q
I “ 1 Q gLy
1 10GAMN —| JocAMN ~ LSS piwoon, o T R ERE
A36 STEEL ~J ~ 7. WOOD BUCKS (BY OTHERS) SHALL z ~8|pdE
11727 LONG = § : ’ BE ANCHORED PROPERLY TO TRANSFER £ Odnldge
S FLLET <~ : . LOADS TO THE EXISTING STRUCTURE, S ESp|Czw
1l S xnun|lgla
WELD, E70XX) i 8. MACHINE SCREWS SHALL HAVE =z 2 &|H §l <
S~ R MINIMUM OF 1/2" ENGAGEMENT OF S5 BIEZA
ZPLUG WELD il - x| THREADS IN BASE ANCHOR AND MAY SR =f 0%
(FULLY WELD TRACK 1-1/2" LONG s S HAVE EITHER A PAN HEAD, TRUSS HEAD, S8 g “F
ANGHOR SLOT, STITCH WELD | ™~~~ OR WAFER HEAD ("SIDEWALK BOLT") g5 O
~} E7OXX ELECTRODE) (1/4" FILLET WELD, ~J - R < U.N.O. gun z
E70XX ELECTRODE) ; . \\ a
(SEE ANCHORING NOTES) (SEE ANCHORING NOTES) ~{ .\\ ] 2
il ! o@D
: \ P ; e\\\<> §§§§ o
= ili. Gl 12000 0C. TYRI k| TN Si=
§ - FLOOR TO TRACK BRACKET 1 g e
- |- SEE SHEET 4 OF 7 FOR DETAIL ] T \>
) ;&\ \: 2l ( ) 9.000 MAX OGHL L] si2igig). |,
2@ i 2 i
T \< gl
¥ ASHER 1 |- ¢ ™ 8&
ST FLATW 5 L3.000MAXO.C. Sl
TRACK LINER — 3/8"X3" LAG BOLT WITH 1-3/4" MIN THREAD il I Elzi
(HDPE) PENETRATION, 3/4" MIN. EDGE DISTANCE J HEE N
STL STRT TRACK . 13-TKO-04
1 % oy 1 02
(SEE ANCHORING NOTES) | nwm %wmm weith the _.-__...._.._.L.._'f:‘;'fmmmom
DETAIL B NN Date (If202202
j/ 1 BRACKET, FLOOR TO TRACK PART NO. 20-00007 Mismi D Produst Contro} 7
I} 2 (SEE ANCHORING NOTES) By ﬁ;}» i
*TYPE OF ANCHOR DETERMINED BY FLOOR MATERIAL,
TEST MOUNTING ON WOOD USE ANY ANCHOR SHOWN HEREIN 5 y




‘ﬂﬁ;t"lﬂn”h'

In Sectional Door (NOAM3-TKO-04_02% Vertlcool 4in Sactional Door (NOA).dwg
=

F\01 Project Files\TKO Dock Doors (TKOR2013V3-TKO-04 Verticool 4

kesithl

14/20/2013 - 2:44pm

€

FASTENER NOTE:

FIXED PLUNGERS, HANDLES, AND TPU BRACKETS
ARE MOUNTED TO THE PANEL USING: (4} 1/4-20 X 3.00"
CARRIAGE BOLTS AND {4} 1/4-20 FLANGE NUTS.

HINGE SETS ARE MOUNTED TO THE PANELS USING:
{4) 1/4-20 X 3.00" CARRIAGE BOLTS AND 1/4-20 FLANGE NUTS.

PANEL PLATES ARE MOUNTED TO THE PANELS USING:
(10} 1/4-20 X 3.00" CARRIAGE BOLTS AND 1/4-20 FLANGE NUTS.

SLIDE LOCKS ARE MOUNTED TO THE PANELS USING:
(4) #14 X 3/4" TEK SCREWS.,

. 5.000 —l 0.375 THK
A BASE PLATE
LM T
2,000 3.500
—l——O 0
—|l—0.250

WALL BRACKET, WINDLOAD

A36 STEEL, ZINC PLATED

PART NO. 35-00057

| $0.331

' 10.000 |

[T £]

T

| I ]

U-BOLT, 1018 STEEL, ZINC PLATED
PART NO. 10-00359
{(MANUFACTURED BY SECURE ENTERPRISES, LLC)

PANEL HARDWARE
|—4.750*|
T
4635 Ji\ 2.440 2810

I1 0-GA ASTM AG53 GO0
6.740— FLOOR BRACKET

KIT, CENTER POST, HEAVY- WLD
ALUMINUM ALLOY 6005- TS
TKO PART NO. 30-00907

(MANUFACTURED BY SECURE ENTERPRISES, LLC)

o T —HINGE PLATE, MALE
PART NO. 20-00010
13-GA HRPO* CLEAR ZINC

Bosrs NG
7 DA—(Y L i
PULL RING
T 2.250
KNOCK-QUT LOCK PIN, WINDLOAD

12L14 CARBON STEEL ZINC PLATED
PART NO. 10-00237

2250 —i——~
—'—&% KNOGCK-OUT LOCK
]_ LANYARD, GALVANIZED
@ 375

PART NO. 10-00131
STEEL PIN

KNOCK OUT LOCK PART NO. 30-00590
(SEE SHEET 7 OF 7 FOR LOCATION)

0.750
«—4.250——1—3.400
OoO0o o)
[n} [a]
] HINGE PLATE, FEMALE 3.000 ]
PART NO. 20-00011 U: T
o__o| 13-GAHRPO* CLEAR ZINC nobao
| |

12-GA STEEL HOUSING
SLIDE LOCK PART NO. 30-00004

|--4.500~|

~— LENGTH VARIES WITH DOOR SIZE A~

3117
o0
000 OQo
000 000
10-GA HRPO* CLEAR ZINC

HANDLE PART NO. 20-00613

]
3.240
A

CENTER POST ASSEMBLY, HEAVY
TKO PART NO. 30-00905

| HEIGHT
TN VARIES A
TMNT WITH DOOR A
SIZE

0.855 F 9N “%,
| RV et e 3
e il AN [
4 " ) ]
| 2 9P LRI
78 eog’ B
%< b | ST 3
%, Qpee: N3
1.100 & T e
KAst Uwd
13-GA HRPO* CLEAR ZINC FINISH W g S g 2R
BRACKET, POST PART NO. 20-02018 D: gg 3 EﬁEnﬁ
L|<§. 2z
NES ET
W o 342
i &
zHO S ®
U')n{§3 2
aol.l.l:-:
F o0& 3
L4

364" GALV. LANYARD,
POST TETHER, &
PART NQ. 10-00360

- 4.500 ] —| 0747
1 I
[oc oaa 500 r
E]I }:ED UuUU
oN\g o o 7.500
MIN 12-GA o000
STEEL HOUSING
. o O o 0

! -0

FIXED PLUNGER PART NO. 30-00676

|——‘—1.500

3.938 ‘1

3.000

18-GA AB53 G290 COVER, PLUNGER PART NO. 20-01459

TPU CAELE LEVELING BRACKET
11-GA AG53 GI0 PART NO, 20-01868

*HRPC- HOT ROLLED, PICKLED & OILED STEEL

Q B o

L)
‘\

W | FRANK L 7 6.E.
#PEQAAGSAD, | ‘-,

PN
¥
» IE

7
R

° e 46.250

—1 3.500

12-GA A653 G20 PANEL PLATE
PART NO. 20-01814

N56 W24701 NORTH CORPORATE CIRCLE, SUITE A
SUSSEX, WI 53089
PHONE: 1-800-575-3366 FAX: (262) 246-1301
FIBERGLASS DOCK DOORS
VC-4 WL OVERHEAD GARAGE DOOR
MIAMI-DADE NOTICE OF ACCEPTANCE

11720113

1008713

KL [FB_0s0813| TKO DOORS, DIVISION OF 4FRONT ENGINEERED SOLUTIONS, INC.

PRWNICHKD | DATE

REV, PER COMMENTS KL FLB
|REMOVESTRAYLINES |KL  |[FLB

i

13-TKO-04
SCALE! 102
PAGE DESCRIPTION:

7

6




4_02b Verticool 4in Sectional Door (NOA).dwy

FAD1 Project Files\TKO Dock Doors (TKON2013V 3-TKO;04 Verticool 4in Sectional Door (NOAN 3-TKO-0.

keithl

11/20/2013 - Z.44pm

quittitheg,,

TPU CABLE

LEVELING BRAGKET

PART NO. 20-01868

{TOP PICKUP DOORS ONLY}

TOP PANEL

INTERMEDIATE PANEL

BOTTOM PANEL

LN ’
O FE R 7
DWARE (CONTINUED PN /)
R A’S" 1 KA
‘ fdl 11 1%
3/8"X3" (X4) LAG BOLT WITH — oo e MR SR,
§ 1-3/4" MIN THREAD PENETRATION, b l&ﬁ:;;kﬁgg: ~ TOI?T =
FIXED PLUNGER (X8) 3/4” MIN. EDGE DISTANCE =Y o K A F
¥ PART NO. 30-00676 X s B
S RN
Wz, 838 &
I o SR ® | 7 B 2B
| ;”«’a, ﬁt:‘g’ﬁ\g\\‘ g
%h‘ T i EBEE O,y
Z28a 88
i ZIT|555 %3
D)5, 953
nB 55
Z X E fa § vy g
=
WALL BRACKET, WINDLOAD W - % § 88
' PART NO. 35-00057 13028 9
H—— HINGE SET, WW hgd> o
¢ PART NO. 30-00045 ol S E
! U-BOLY -0 &
\ PART NO. 10-00359 <
J
i =1
I J G
5 T g g §
%zh—suos LOCK ASSEMBLY (X18) DETAIL A EE @
(QTY VARIES WITH DOOR SIZE) 23 & oY
PART NO. 30-00004 s g = oz
#14 X 314" TEX SCREWS (X4) @ g alg SE
] OR £ © i
5 1/4-20X5.00" CARRIAGE BOLT (X4) H UaSl8 0] 9
AND 1/4-20 FLANGE NUT (X4} = pd 2|8 é Q
= oni|¥85
POST TETHER E S8 [Qow
PART NO. 10-00360 S % o e I % &
p g owg o
1 HEEE
H— PANEL PLATE KNOGKOUT LANYARD SEmnYlESQ
PART NO. 20-01814 PART NO. 10-00131 5% glp=e
n o ] ? g
1 N - 8]
! KNOCKOUT PIN g% o
KNOCKOUT LOCK (X18) PART NO. 10-00237 gL =
PART NO. 30-00590 a
Q
5 5 [
‘ o[22
HANDLE 8 E % 8E
: PART NO. 20-00613 3 g SiT
\LL_fL |51- Q
Slmlae) .|,
DETAIL B £
INSIDE FACE OF PANEL al2lg|gl .,
i NOTE: REMOVE PINS FROM SLIDE LOCKS AFTER INSTALLATION, LATCH ONLY £ %
gl PANEL BRACKET, GENTER POST IN THE ANTICIPATION OF HIGH WIND PRESSURE EVENT. g
. (BOTTOM OF PANEL, ONE PER PANEL) L8 E
PART NO, 20-02018 Al é
KNOCK-QUT LOCK (X3) Elag |,
C PART NO. 30-00590 —
13-TKO-04
PANEL BRACKET, CENTER POST A . ot Frome 02
Florida Builh —J—,
FLOOR BRACKET, CENTER POST Torida Huiding Code PAGE DESCRIPTION:
NOA¥ .
Mi %ﬁ;ﬂw 7
FINISHED FLOOR/ By A
DETAIL C LEVELER BOARD / E;




